
BOX # 1      
A. TABLE TOP 1 PC

HARDWARE ENCLOSED IN BOX #2

PARTS PACKING CONFIGURATION

A

B

QuantityPhotoDescription

8 PCS

4 PCS

4 PCS

1 PC

STEP 1:

ZANZIBAR TABLE FULLY ASSEMBLED

ALLEN BOLT (1/4'' x 9/16'')

LOCK WASHER (5/16'')

FLAT WASHER (5/16'')

ALLEN KEY(5/16'')

No

1

4

5

6

2

3

ALLEN BOLT (5/16'' x 1-3/8'')                  
4 PCS

STEP 2:

STEP 3: STEP 4:

DO NOT TIGHTEN BOLTS COMPLETELY

PLEASE TIGHTEN ALL ASSEMBLY BOLTS FROM STEP 2 

WITH PROVIDED ALLEN KEY.

FULLY ASSEMBLED

1

5

6

2

3

4

5

  ZANZIBAR DINING TABLE
ASSEMBLY INSTRUCTIONS

ALLEN KEY(1/4'')
                                   1 PC 

B

A

FULLY TIGHTEN ALL ASSEMBLY BOLTS FROM STEP 1 

WITH PROVIDED ALLEN KEY.

BOX # 2
B. LEG 4 PCS

http://www.Architecture4design.com
http://www.Architecture4design.com
http://www.Architecture4design.com
http://www.Architecture4design.com
http://www.Architecture4design.com
http://www.Architecture4design.com
http://www.Architecture4design.com
http://www.Architecture4design.com
http://www.Architecture4design.com
http://www.Architecture4design.com
http://www.Architecture4design.com
http://www.Architecture4design.com
http://www.Architecture4design.com
AutoCAD SHX Text
00:20


	图纸和视图
	模型




